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PART – I
	 1.	 The gas which turns lime water 

milky is
	 (A)	 CO2

	 (B)	 CO
	 (C)	 H2S
	 (D)	 SO
	 (E)	 None of the above/More than one 

of the above

	 2.	 Among the following pairs of river 
and tributary, which one is not  
correctly matched ?

	 (A)	 Godavari	 –	 Manas
	 (B)	 Brahmaputra	 –	 Tista
	 (C)	 Yamuna	 –	 Chambal
	 (D)	 Krishna	 –	 Bhima

	 (E)	 None of the above/More than 
one of the above

	 3.	 Consider the following statements :
		  An Amendment to the Constitution 

of India can be initiated by the 
	 1.	L ok Sabha
	 2.	 Rajya Sabha
	 3.	 State Legislatures
	 4.	 President
		  Which of the above statements is/

are correct ? 
		  Choose the answer from the codes 

given below :

		  Codes :
	 (A)	 2, 3 and 4
	 (B)	 1, 2 and 3
	 (C)	 1 and 2
	 (D)	 1 only
	 (E)	 None of the above/More than one 

of the above

	 4.	 The ratio between the perimeter and 
the breadth of a rectangle is 5 : 1. If 
the area of rectangle is 216 sq.cm. 
The length of rectangle is

	 (A)	 15 cm

	 (B)	 13 cm

	 (C)	 17 cm

	 (D)	 11 cm

	 (E)	 None of the above/More than one 
of the above

	 5.	 Who introduced the permanent 
settlement of land revenue in Bengal ?

	 (A)	L ord Clive

	 (B)	L ord Cornwallis

	 (C)	 Warren Hastings

	 (D)	L ord Wellesley

	 (E)	 None of the above/More than one 
of the above

	 6.	 Which Buddhist Council was 
convened in Pataliputra ?

	 (A)	 Third

	 (B)	 Second

	 (C)	 Fourth

	 (D)	 First

	 (E)	 None of the above/More than one 
of the above
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PART – I

	 1.	 {ZåZ{b{IV _| H$m¡Z-gr J¡g MyZo Ho$ nmZr H$mo 
Xÿ{Y`m ~Zm XoVr h¡ ?

	 (A)	 H$m~©Z S>mB©AmŠgmBS>
	 (B)	 H$m~©Z _moZmoAmŠgmBS>
	 (C)	 hmBS´>moOZ gë\$mBS>
	 (D)	 gë\$a _moZmoAmŠgmBS>
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 2.	 ZXr VWm CgH$s ghm`H$ Z{X`m| Ho$ {ZåZ Omo‹S>m§o 
_| go H$m¡Z-gm EH$ Omo‹S>m ghr Zht h¡ ?

	 (A)	 JmoXmdar	 –	 _mZg
	 (B)	 ~«÷nwÌ	 –	 {Q>ñQ>m
	 (C)	 `_wZm	 –	 Må~b
	 (D)	 H¥$îUm	 –	 ^r_m
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 3.	 {ZåZ{b{IV H$WZm| na {dMma H$s{OE :

		  ^maVr` g§{dYmZ _| H$moB©> g§emoYZ bmZo H$m 
CnH«$_ {H$`m Om gH$Vm h¡ 

	 1.	 bmoH$g^m Ûmam
	 2.	 amÁ`g^m Ûmam
	 3.	 amÁ` {dYmZ _§S>bm| Ûmam
	 4.	 amîQ´>n{V Ûmam
		  CŠV H$WZm| _| H$m¡Z-gm/go ghr h¡/h¢ ?
		  ZrMo {X`o J`o Hy$Q>m| _| go ghr CÎma H$m MwZmd 

H$s{OE :

		  Hy$Q> :
	 (A)	 2, 3 Am¡a 4
	 (B)	 1, 2 Am¡a 3
	 (C)	 1 Am¡a 2
	 (D)	 Ho$db 1
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 4.	 EH$ Am`V H$s n[a{Y Am¡a Mm¡‹S>mB© H$m AZwnmV  

5 : 1 h¡ & `{X Am`V H$m joÌ\$b 216 dJ© go_r 

h¡, Vmo Am`V H$s bå~mB© hmoJr

	 (A)	 15 go_r

	 (B)	 13 go_r

	 (C)	 17 go_r

	 (D)	 11 go_r

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 5.	 ~§Jmb _| ^y{_ amOñd H$m ñWm`r ~ÝXmo~ñV 

{H$gHo$ Ûmam {H$`m J`m ?

	 (A)	 bmS>© ŠbmBd

	 (B)	 bmS>© H$m°Z©dm{bg

	 (C)	 dmaoZ hopñQ>¨½g

	 (D)	 bmS>© doboObr

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 6.	 nmQ>{bnwÌ _| H$m¡Z-gr ~m¡Õ g§Jr{V Am`mo{OV 

H$s JB© Wr ?

	 (A)	 V¥Vr`

	 (B)	 {ÛVr`

	 (C)	 MVwW©

	 (D)	 àW_

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$
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	 7.	 Where did Mangal Pandey revolted in 
March 1857 A.D. ?

	 (A)	 Jhansi

	 (B)	 Barrackpore

	 (C)	L ucknow

	 (D)	 Meerut

	 (E)	 None of the above/More than one 
of the above

	 8.	 In the series

		  7, 14, 28, .....

		  10th term will be

	 (A)	 3584

	 (B)	 2496

	 (C)	 4096

	 (D)	 1792

	 (E)	 None of the above/More than one 
of the above

	 9.	 The Central Government has set up 
a fast track special court in India. 
For which of the following periods 
is it extended under the central 
sponsored scheme ?

	 (A)	 1 April 24 to 31 March 2028

	 (B)	 1 April 23 to 31 March 2024

	 (C)	 1 April 23 to 31 March 2026

	 (D)	 More than one of the above

	 (E)	 None of the above

	 10.	 Which of the following elements 
would lose an electron easily ?

	 (A)	 Ca	

	 (B)	 Na

	 (C)	 Mg

	 (D)	 K

	 (E)	 None of the above/More than one 
of the above

	 11.	 The product of the LCM and the 
HCF of two numbers is 24. If the 
difference of the number is 2, then 
the greater of the numbers is

	 (A)	 3

	 (B)	 4

	 (C)	 2

	 (D)	 6

	 (E)	 None of the above/More than one 
of the above

	 12.	 Which one of the following is 	
non-biodegradable substance ?

	 (A)	 Paper

	 (B)	 Manure

	 (C)	 Cotton cloth

	 (D)	 DDT

	 (E)	 None of the above/More than one 
of the above
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	 7.	 _§Jb nmÊS>o Zo _mM© 1857 B©. _| H$hm± {dÐmoh 

{H$`m ?

	 (A)	 Pm±gr

	 (B)	 ~¡aH$nwa

	 (C)	 bIZD$

	 (D)	 _oaR>

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 8.	 loUr _|

		  7, 14, 28, .....

		  10dm§ nX hmoJm

	 (A)	 3584

	 (B)	 2496

	 (C)	 4096

	 (D)	 1792

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 9.	 H|$Ð gaH$ma Zo ^maV _| \$mñQ> Q´>¡H$ {deof 

AXmbV H$mo g|Q´>b ñnm°ÝgS>© ñH$s_ Ho$ VhV 

{ZåZ{b{IV _| go {H$g Ad{Y Ho$ {bE 

{dñVm[aV H$s h¡ ?

	 (A)	 1 Aà¡b 24 go 31 _mM© 2028 VH$

	 (B)	 1 Aà¡b 23 go 31 _mM© 2024 VH$

	 (C)	 1 Aà¡b 23 go 31 _mM© 2026 VH$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 10.	 {ZåZ _| go H$m¡Z-gm VËd AmgmZr go EH$ 

BboŠQ´>mZ _wŠV H$a XoVm h¡ ?

	 (A)	 H¡$b{g`_

	 (B)	 gmo{S>`_

	 (C)	 _¡JZr{e`_

	 (D)	 nmoQ>¡{e`_

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 11.	 Xmo g§»`mAm| Ho$ LCM Am¡a HCF H$m JwUZ\$b 

24 h¡ & `{X g§»`mAm| H$m AÝVa 2 h¡, Vmo ~‹S>r 

g§»`m h¡

	 (A)	 3

	 (B)	 4

	 (C)	 2

	 (D)	 6

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 12.	 {ZåZ _| go H$m¡Z-gm EH$ AO¡d {ZåZrH$aU nXmW© h¡ ?

	 (A)	 H$mJO

	 (B)	 ImX

	 (C)	 gyVr H$n‹S>m

	 (D)	 S>r.S>r.Q>r.

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH
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	 13.	 Which among the following became 

the Prime Minister of India without 

being earlier the Chief Minister of a 

state ?

	 1.	 Morarji Desai

	 2.	 Charan Singh

	 3.	 V. P. Singh

	 4.	 Chandrashekhar

		  Select the correct answer from the 

codes given below :

	 (A)	 2 only

	 (B)	 2 and 3

	 (C)	 4 only

	 (D)	 1, 2 and 4

	 (E)	 None of the above/More than one 

of the above

	 14.	 Which one of the following 
determines that the Indian 
Constitution is federal ?

	 (A)	 Vesting of residuary powers with 
the centre

	 (B)	 An independent Judiciary

	 (C)	 Distribution of powers between 
the centre and the states

	 (D)	 A written and rigid Constitution

	 (E)	 None of the above/More than one 
of the above

	 15.	 If Q means ‘add to’, J means 
‘multiply’, T means ‘subtract from’, 
and K means ‘divide by’ then

		  30 K 2 Q 3 J 6 T 5 =

	 (A)	 26

	 (B)	 20

	 (C)	 31

	 (D)	 18

	 (E)	 None of the above/More than one 
of the above

	 16.	 Reaction in which heat energy is 
released is called

	 (A)	 Endothermic

	 (B)	 Reversible

	 (C)	 Exothermic

	 (D)	 Irreversible

	 (E)	 None of the above/More than one 
of the above

	 17.	 The speaker can ask a member of 

the house to stop speaking and 

let another member speak. This 

phenomenon is known as

	 (A)	 Interpellation

	 (B)	 Crossing the floor

	 (C)	 Yielding the floor

	 (D)	 Decorum

	 (E)	 None of the above/More than one 

of the above
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	 13.	 {ZåZ{b{IV _| go H$m¡Z nhbo {H$gr amÁ` H$m 

_w»`_§Ìr ~Zo {~Zm ^maV H$m àYmZ_§Ìr ~Zm ?

	 1.	 _moamaOr XogmB©

	 2.	 MaU qgh

	 3.	 dr. nr. qgh

	 4.	 MÝÐeoIa

		  ZrMo {XE J ò Hy$Q>m| H$s ghm`Vm go ghr CÎma H$m 

M`Z H$s{OE :

	 	 Hy$Q> :

	 (A)	 Ho$db 2

	 (B)	 2 Am¡a 3

	 (C)	 Ho$db 4

	 (D)	 1, 2 Am¡a 4

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 14.	 {ZåZ{b{IV _| go {H$Z-go {ZYm©[aV hmoVm h¡ {H$ 

^maV H$m g§{dYmZ n[ag§Kr` h¡ ?

	 (A)	 Ad{eîQ> epŠV`m| H$m Ho$ÝÐ _| {Z{hV hmoZm

	 (B)	 Ý`m` nm{bH$m ñdV§Ì h¡

	 (C)	 Ho$ÝÐ Am¡a amÁ`m| Ho$ ~rM epŠV`m| H$m 

{dVaU

	 (D)	 g§{dYmZ {b{IV Am¡a AZå` h¡

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 15.	 `{X Q H$m AW© "OmoS>Zm', J H$m AW© "JwUm', 
T H$m AW© "KQ>mZm' Am¡a K H$m AW© "^mJ XoZm' 
h¡, Vmo

		  30 K 2 Q 3 J 6 T 5 =

	 (A)	 26

	 (B)	 20

	 (C)	 31

	 (D)	 18
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 16.	 D$î_m {ZîH$m{gV H$aZo dmbr à{V{H«$`m H$mo Š`m 
H$hVo h¢ ?

	 (A)	 D$î_memofr

	 (B)	 CËH«$_Ur`

	 (C)	 D$î_mjonr

	 (D)	 AZwËH«$_Ur`

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH

	 17.	 AÜ`j gXZ Ho$ {H$gr ^r gXñ` H$mo ~mobZo 

go amoH$ gH$Vm h¡ Am¡a AÝ` {H$gr gXñ` H$mo 

~mobZo Xo gH$Vm h¡ & `h KQ>Zm H$hbmVr h¡ 

	 (A)	 A§Và©íZ (Interpellation)

	 (B)	 njË`mJ (Crossing the floor)

	 (C)	 ~¡R>OmZm (Yielding the floor)

	 (D)	 _`m©Xm (Decorum)

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$
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	 18.	 Which one of the following is 
included in Third Generation 
Industrial Reforms ?

	 (A)	 E-biz project

	 (B)	 Skill development

	 (C)	 Make in India

	 (D)	 All the above

	 (E)	 None of the above/More than one 
of the above

	 19.	 Which one of the following 
statements is not correct ?

	 (A)	 Shivaji’s guardian’s name was 
Dadoji Konddev

	 (B)	 Shivaji’s mother’s name was 
Jijabai

	 (C)	 Shivaji’s Council of Minister was 
called ‘Sapt Pradhan’

	 (D)	 Shivaji’s father’s name was 
Shahji

	 (E)	 None of the above/More than one 
of the above

	 20.	 The difference between simple and 
compounded interests compounded 
annually on a certain sum of money 
for two years at 4% per annum is  
Re. 1. The sum (in Rs.) is

	 (A)	 660

	 (B)	 650

	 (C)	 670

	 (D)	 630

	 (E)	 None of the above/More than one 
of the above

	 21.	 A law which gives force between two 

charges is

	 (A)	 Coulomb’s law

	 (B)	 Faraday’s law

	 (C)	 Kirchhoff’s law

	 (D)	 Ohm’s law

	 (E)	 None of the above/More than one 

of the above

	 22.	 Decadal female population growth of 
India during 2001-2011 was 

	 (A)	 21.44 %

	 (B)	 18.12 %

	 (C)	 23.18 %

	 (D)	 17.64 %

	 (E)	 None of the above/More than 
one of the above

	 23.	 Which department was allotted 
to Jagjivan Ram in the interim 
government established in 	
1946 A.D. ?

	 (A)	 Finance

	 (B)	L abour

	 (C)	L aw

	 (D)	 Defence

	 (E)	 None of the above/More than one 
of the above
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	 18.	 {ZåZ _| go H$m¡Z EH$, Vrgar nr‹T>r Ho$ Am¡Úmo{JH$ 
gwYmam| _| gpå_{bV h¡ ?

	 (A)	 B©-{~O àmoOoŠQ>

	 (B)	 pñH$b {dH$mg

	 (C)	 _oH$ BZ B§{S>`m

	 (D)	 CnamoŠV g^r

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 19.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ H$WZ ghr 	

Zht h¡ ?

	 (A)	 {edmOr Ho$ g§ajH$ H$m Zm_ XmXmoOr 

H$m|S>Xod Wm

	 (B)	 {edmOr H$s _mVm H$m Zm_ OrOm~mB© Wm

	 (C)	 {edmOr H$s _§{Ìn[afX² ‘ gßVàYmZ’ 	

H$hbmVr Wr

	 (D)	 {edmOr Ho$ {nVm H$m Zm_ emhOr Wm

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 20.	 EH$ {ZpíMV am{e na 2 df© Ho$ {b`o 4% 

à{Vdf© H$s Xa go dm{f©H$ ê$n go g§`mo{OV 

gmYmaU Am¡a MH«$d¥{Õ ã`mO Ho$ ~rM H$m A§Va 

é. 1 h¡ & _ybYZ (é. _|) h¡

	 (A)	 660

	 (B)	 650

	 (C)	 670

	 (D)	 630

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 21.	 Xmo {dÚwV Amdoem| Ho$ ~rM bJZo dmbo ~b H$mo 

{ZåZ{b{IV _| {H$g {Z`_ go à{Vnm{XV {H$`m 

OmVm h¡ ?

	 (A)	 Hy$bmå~ H$m {Z`_

	 (B)	 \¡$amS>o H$m {Z`_

	 (C)	 {H$aMmâg H$m {Z`_

	 (D)	 Amoh_ H$m {Z`_

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 22.	 ^maV _| 2001-2011 _| XeH$s` _{hbm 
OZg§»`m d¥{Õ Xa Wr

	 (A)	 21.44 %

	 (B)	 18.12 %

	 (C)	 23.18 %

	 (D)	 17.64 %

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 23.	 1946 B©. _| J{R>V AÝV[a_ gaH$ma _| OJOrdZ 

am_ H$mo H$m¡Z-gm {d^mJ gm¢nm J`m Wm ?

	 (A)	 {dÎm

	 (B)	 l_

	 (C)	 H$mZyZ

	 (D)	 ajm

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

   A



05/HM/M–2024/A	 10	

	 24.	 Which ship of the Indian Coast 
Guard went on a three-day visit to 
Oman on 29 November 2023 ?

	 (A)	 Sajag

	 (B)	 Varun

	 (C)	 Gajraj

	 (D)	 More than one of the above

	 (E)	 None of the above

	 25.	 What should be the value of ∗ in

		  985 ∗ 865

		  if the number is divisible by 9 ?

	 (A)	 5

	 (B)	 6

	 (C)	 3

	 (D)	 7

	 (E)	 None of the above/More than one 
of the above

	 26.	 Which of the following pairs is not 

correct ?

	 (A)	 India wins	 –	 Maulana Abul 

Freedom 		  Kalam Azad

	 (B)	 Hind Swaraj	 –	 Balgangadhar 	

		  Tilak

	 (C)	 Discovery	 –	 Jawahar Lal 	

of India 		  Nehru

	 (D)	 Unhappy India	–	L ala Lajpat Rai

	 (E)	 None of the above/More than one 

of the above

	 27.	 For how many times Subhash 
Chandra Bose was elected President 
of Indian National Congress ?

	 (A)	 Thrice

	 (B)	 Twice

	 (C)	 Never

	 (D)	 Once

	 (E)	 None of the above/More than one 
of the above

	 28.	 Resistance of a wire is given by

	 (A)	 R I
V=

	 (B)	 R = IV

	 (C)	 R = I2V

	 (D)	 R V
I

=

	 (E)	 None of the above/More than one 

of the above

	 29.	 Which of the following organizations 
has been included in the exempted 
organizations under the Right to 
Information Act, 2005 ?

	 (A)	 Computer Emergency Response 
Team

	 (B)	 Policy Emergency Response 		
Team

	 (C)	 Diplomacy Emergency Response 
Team

	 (D)	 More than one of the above

	 (E)	 None of the above



05/HM/M–2024/A	 11	 [ P.T.O.

	 24.	 ^maVr` VQ>ajH$ Xb Ho$ H$m¡Z-gr OhmO Amo_mZ 

Ho$ VrZ {Xdgr` `mÌm na 29 Zd§~a 2023 H$mo 

J`m Wm ?

	 (A)	 gOJ

	 (B)	 déU

	 (C)	 JOamO

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 25.	 ∗ H$m Š`m _mZ h¡ `{X

		  985 ∗ 865

		  9 go nyU© {d^m{OV h¡ ?

	 (A)	 5

	 (B)	 6

	 (C)	 3

	 (D)	 7

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 26.	 {ZåZ _| go H$m¡Z-gr Omo‹S>r ghr Zht h¡ ?

	 (A)	 BpÊS>`m {dÝg 	 –	_m¡bmZm A~wb H$bm_ 

\«$sS>_		  AmµOmX

	 (B)	 {hÝX ñdamO	 –	~mbJ§JmYa {VbH$

	 (C)	 {S>ñH$dar Am°\$	 –	Odmhabmb Zohê$

		  BpÊS>`m

	 (D)	 AZh¡ßnr BpÊS>`m	–	bmbm bmOnVam`

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 27.	 gw^mf MÝÐ ~mog {H$VZr ~ma ^maVr` amîQ´>r` 

H$m§J«og Ho$ AÜ`j MwZo JE ?

	 (A)	 VrZ ~ma

	 (B)	 Xmo ~ma

	 (C)	 H$^r ^r Zht

	 (D)	 EH$ ~ma

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 28.	 {H$gr Vma H$m à{VamoY {ZåZ{b{IV _| go {H$ggo 
{X`m OmVm h¡ ?

	 (A)	 R I
V=

	 (B)	 R = IV

	 (C)	 R = I2V

	 (D)	 R V
I

=

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 29.	 {ZåZ{b{IV _| go {H$g g§JR>Z H$mo gyMZm H$m 

A{YH$ma H$mZyZ, 2005 Ho$ AYrZ Ny>Q> àmßV 

g§JR>Z H$s gyMr _| em{_b {H$`m J`m ?

	 (A)	 H§$ß`yQ>a B_aO|gr [añnm§g Q>r_

	 (B)	 nm°{bgr B_aO|gr [añnm§g Q>r_

	 (C)	 {S>ßbmo_ogr B_aO|gr [añnm§g Q>r_

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 30.	 Which one of the following districts 
of Bihar has minimum sex-ratio as 
per census 2011 ?

	 (A)	 Munger

	 (B)	 Saharsa

	 (C)	 Madhepura

	 (D)	 Aurangabad

	 (E)	 None of the above/More than 
one of the above

	 31.	 Which of the following is not 
irrational ?

	 (A)	 3 7 3 7+( ) −( )
	 (B)	 3 7−( )
	 (C)	 3 7

	 (D)	 3 7+( )
	 (E)	 None of the above/More than one 

of the above

	 32.	 In which year was the first flight 
(Flight 100) in the world filled with 
100 percent green fuel ?

	 (A)	 Year 2024 from IGIAI Airport 
to New York’s John F Kennedy 
International Airport

	 (B)	 Year 2023 from London’s 
Hathorne Airport to New York’s 
John F Kennedy International 
Airport

	 (C)	 Year 2023 from New York’s John 
F Kennedy Airport to London’s 
Hathorne International Airport

	 (D)	 More than one of the above

	 (E)	 None of the above

	 33.	 The United Nations Environment 
Programme has stated in its 14th 
Emissions Gap Report 2023 

	 (A)	 Global warming has limited to 1.7 
degrees Celsius

	 (B)	 Global warming has limited to 1.5 
degrees Celsius

	 (C)	 Global warming has limited to 1.9 
degrees Celsius

	 (D)	 More than one of the above

	 (E)	 None of the above

	 34.	 An example of a metal which is a 
liquid at room temperature is 

	 (A)	 Mercury

	 (B)	 Copper

	 (C)	 Bromine

	 (D)	 Zinc

	 (E)	 None of the above/More than one 
of the above

	 35.	 Choose a similar word :
		  Kolkata, Mumbai, Mangalore

	 (A)	 Jaipur

	 (B)	 Kanpur

	 (C)	 Cochin

	 (D)	 Delhi

	 (E)	 None of the above/More than one 
of the above
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	 30.	 {~hma Ho$ {ZåZ {Obm| _| go OZJUZm 2011 Ho$ 
AZwgma g~go H$_ qbJmZwnmV aIZo dmbm {Obm 
H$m¡Z-gm h¡ ?

	 (A)	 _w§Joa

	 (B)	 ghagm

	 (C)	 _Yonwam

	 (D)	 Am¡a§Jm~mX

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 31.	 {ZåZ _| go H$m¡Z-gm An[a_o` Zht h¡ ?

	 (A)	 3 7 3 7+( ) −( )
	 (B)	 3 7−( )
	 (C)	 3 7
	 (D)	 3 7+( )
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 32.	 {H$g df© {díd _| eV à{VeV J«rZ â`yb go 
àW_ C‹S>mZ (âbmBQ> 100) H$hm± go H$hm± VH$ 
H$m ^am ?

	 (A)	 df© 2024 AmB©.Or.AmB©.E.AmB©. E`anmoQ>© 
go Ý`y`mH©$ Ho$ Om°Z E\$ H¡$ZoS>r A§VaamîQ´>r` 
E`anmoQ>© VH$

	 (B)	 df© 2023 _| b§XZ Ho$ hmWZm} E`anmoQ>© go 
Ý`y`mH©$ Ho$ Om°Z E\$ H¡$ZoS>r A§VaamîQ´>r` 
E`anmoQ>© VH$

	 (C)	 df© 2023 Ý`y`mH©$ Ho$ Om°Z E\$ H¡$ZoS>r  
E`anmoQ>© go b§XZ Ho$ hmWZm} A§VaamîQ´>r` 
E`anmoQ>© VH$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 33.	 g§̀ wº$ amîQ́> n`m©daU H$m ©̀H«$_ Zo AnZr 14dt 

CËgO©Z A§Va [anmoQ>© 2023 _| {ZåZ{b{IV 

Iwbmgm {H$`m J`m h¡ 

	 (A)	 ½bmo~b dm{_ªJ H$mo 1.7 {S>J«r gopëg`g VH$ 

gr{_V {H$`m J`m h¡

	 (B)	 ½bmo~b dm{_ªJ H$mo 1.5 {S>J«r gopëg`g VH$ 

gr{_V {H$`m J`m h¡

	 (C)	 ½bmo~b dm{_ªJ H$mo 1.9 {S>J«r gopëg`g VH$ 

gr{_V {H$`m J`m h¡

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 34.	 H$_ao Ho$ Vmn na Ðd AdñWm _| ahZo dmbo EH$ 
YmVw H$m Zm_ {ZåZ _| go Š`m hmoJm ?

	 (A)	 nmam

	 (B)	 Vm±~m

	 (C)	 ~«mo_rZ

	 (D)	 OñVm

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH

	 35.	 EH$ g_mZ eãX MwZ| :

		  H$mobH$Îmm, _w§~B©, _¢Jbmoa

	 (A)	 O`nwa

	 (B)	 H$mZnwa

	 (C)	 H$mo{MZ

	 (D)	 {Xëbr

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$
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	 36.	 Which event was first to occur ?

	 (A)	 Jallianwala Bag Massacre

	 (B)	 Establishment of Swaraj Party

	 (C)	 Kakori train loot

	 (D)	 Non co-operation movement

	 (E)	 None of the above/More than one 

of the above

	 37.	 Where has Raas Mahotsav been 

organized from 21 to 24 November 

2023 ?

	 (A)	 Majuli Assam

	 (B)	 Ranchi Jharkhand

	 (C)	 Mithila Bihar

	 (D)	 More than one of the above

	 (E)	 None of the above

	 38.	 Which one of the following is not 

the part of four pillars of the union 

budget 2022-23 ?

	 (A)	 Change in income-tax rates

	 (B)	 Climate

	 (C)	 PM Gati Shakti Plan

	 (D)	 Productivity

	 (E)	 None of the above/More than one 

of the above

	 39.	 What is the average speed of a man if 

he travel 1
2

time at a speed of 

		  40 km/h, 1
3  the time at a speed of 

		  50 km/h and the rest at a speed of 
60 km/h ?

	 (A)	 43.6

	 (B)	 46.5

	 (C)	 46.66

	 (D)	 48

	 (E)	 None of the above/More than one 
of the above

	 40.	 Under which section of the 

Consumer Protection Act, 2019 has 

the Central Consumer Protection 

Authority issued a safety notice 

regarding the purchase of acid ?

	 (A)	 Section 19(3),(f)

	 (B)	 Section 17(4),(i)

	 (C)	 Section 18(2),( j)

	 (D)	 More than one of the above

	 (E)	 None of the above

	 41.	 The gap between two neurons is 
called

	 (A)	 Dendron

	 (B)	 Synthesise

	 (C)	 Axon

	 (D)	 Synapse

	 (E)	 None of the above/More than one 
of the above
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	 36.	 g~go nhbo H$m¡Z-gr KQ>Zm hþB© ?

	 (A)	 O{b`m§dmbm ~mJ hË`mH$mÊS>

	 (B)	 ñdamO nmQ>u H$s ñWmnZm

	 (C)	 H$mH$moar Q´>oZ byQ>

	 (D)	 Agh`moJ AmÝXmobZ

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 37.	 21 go 24 Zd§~a 2023 _| amg _hmoËgd H$m 

Am`moOZ H$hm± {H$`m J`m h¡ ?

	 (A)	 _mOwbr Ag_

	 (B)	 am§Mr PmaI§S>

	 (C)	 {_{Wbm {~hma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 38.	 {ZåZ _| go H$m¡Z EH$, g§Kr` ~OQ> 2022-23 

Ho$ Mma ñVå^m| _| gpå_{bV Zht Wm ?

	 (A)	 Am` H$a H$s Xam| _| n[adV©Z

	 (B)	 Obdm`w

	 (C)	 nrE_ J{V epŠV `moOZm

	 (D)	 CËnmXH$Vm

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 39.	 EH$ AmX_r H$s Am¡gV J{V Š`m h¡ `{X dh  
1
2

 g_` 40 {H$._r. à{VK§Q>o H$s J{V go, 1
3  

g_` 50 {H$._r. à{VK§Q>o H$s J{V go Am¡a eof 

g_` 60 {H$._r. à{VK§Q>o H$s J{V go `mÌm 

H$aVm h¡ ?

	 (A)	 43.6

	 (B)	 46.5

	 (C)	 46.66

	 (D)	 48

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 40.	 Cn^moº$m g§ajU H$mZyZ, 2019 Ho$ VhV H|$Ðr` 

Cn^moº$m g§ajU àm{YH$aU Zo {H$g Ymam Ho$ 

VhV VoOm~ H«$` Ho$ g§~§Y _| goâQ>r Zmo{Q>g Omar 

{H$`m h¡ ?

	 (A)	 Ymam 19(3),(f)

	 (B)	 Ymam 17(4),(i)

	 (C)	 Ymam 18(2),( j)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 41.	 Xmo Ý`yamÝg Ho$ ~rM Ho$ J¡n H$mo Š`m H$hVo h¢ ?

	 (A)	 S>|ÝS´>m°Z

	 (B)	 {gÝWo{gg

	 (C)	 AŠgmoZ

	 (D)	 {gZmßgo

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH
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	 42.	 Which of the following is not 
correctly matched ?

	 (A)	 Article 156   –	 Term of the 		
			   Governor

	 (B)	 Article 153   –	 Office of the 		
			   Governor

	 (C)	 Article 154   –	 Executive 		
			   authority 		
			   of Governor

	 (D)	 Article 155   –	 Removal of the 	
			   Governor

	 (E)	 None of the above/More than one 
of the above

	 43.	 A body gets positively charged by 

losing

	 (A)	 Protons

	 (B)	 Electrons

	 (C)	 α-particles

	 (D)	 Neutrons

	 (E)	 None of the above/More than one 

of the above

	 44.	 During whose tenure calcutta, 
Madras and Bombay Universities 
were founded ?

	 (A)	L ord Elgin

	 (B)	L ord Canning

	 (C)	L ord William Bentinck

	 (D)	L ord Curzon

	 (E)	 None of the above/More than one 
of the above

	 45.	 Who was nominated by the  
International Sugar Organization for 
the Chair in 2024 in its 63rd council 
meeting ?

	 (A)	 Brazil

	 (B)	 Thailand

	 (C)	 India

	 (D)	 More than one of the above

	 (E)	 None of the above

	 46.	 Which one of the following is the  

longest National Highway of Bihar ?

	 (A)	 NH 20

	 (B)	 NH 31

	 (C)	 NH 120

	 (D)	 NH 22

	 (E)	 None of the above/More than one 

of the above

	 47.	 In our body the catalyst which helps 

to breakdown food is 

	 (A)	 NaOH

	 (B)	 Hormones

	 (C)	 Digestive enzymes

	 (D)	 Dilute HCl

	 (E)	 None of the above/More than one 

of the above



05/HM/M–2024/A	 17	 [ P.T.O.

	 42.	 {ZåZ{b{IV _| go H$m¡Z-gm ghr gw_o{bV Zht h¡ ?

	 (A)	 AZwÀN>oX 156  -	 amÁ`nmb H$m nXmd{Y

	 (B)	 AZwÀN>oX 153  -	 amÁ`nmb H$m H$m`m©b`

	 (C)	 AZwÀN>oX 154  -	 amÁ`nmb H$m H$m ©̀H$mar 	

			   àm{YH$ma

	 (D)	 AZwÀN>oX 155  -	 amÁ`nmb H$mo hQ>mZm

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 43.	 eara, {ZåZ{b{IV _| go {H$gHo$ d§{MV hmo OmZo 	

go YZmdo{eV hmo Om`oJm ?

	 (A)	 àmoQ>moZ

	 (B)	 BboŠQ´>m°Z

	 (C)	 α-H$U

	 (D)	 Ý`yQ´>m°Z

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 44.	 {H$gHo$ H$m`©H$mb _| H$bH$Îmm, _Ðmg VWm 

~å~B© {díd{dÚmb` ñWm{nV {H$E JE ?

	 (A)	 bmS>© EpëJZ

	 (B)	 bmS>© Ho$qZJ

	 (C)	 bmS>© {d{b`_ ~¢qQ>H$

	 (D)	 bmS>© H$µO©Z 

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$$

	 45.	 B§Q>aZoeZb ewJa Am°J}ZmBOoeZ Ûmam AnZo 63d| 

n[afXr` ~¡R>H$ _| 2024 H$s AÜ`jVm Ho$ {bE 

{H$g Xoe H$mo Zm{_V {H$`m J`m ?

	 (A)	 ~«mOrb

	 (B)	 WmB©b¢S>

	 (C)	 ^maV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 46.	 {~hma Ho$ {ZåZ{b{IV amîQ´>r` amO_mJm] _| go  

H$m¡Z-gm EH$ g~go bå~m h¡ ?

	 (A)	 NH 20

	 (B)	 NH 31

	 (C)	 NH 120

	 (D)	 NH 22

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 47.	 eara Ho$ AÝXa ^moOZ H$mo ~«oH$S>mCZ H$aZo dmbo 

CËàoaH$ H$mo ~VmB`o 

	 (A)	 gmo{S>`_ hmB©S´>mŠgmBS>

	 (B)	 hma_moÝg

	 (C)	 S>mBOopñQ>d BÝOmBåg

	 (D)	 VZw hmBS´>moŠbmo[aH$ Aåb

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH
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	 48.	 ‘Satyarth Prakash’ is written by

	 (A)	 Dayananda Saraswati

	 (B)	 Swami Vivekananda

	 (C)	 Raja Rammohan Roy

	 (D)	 Balgangadhar Tilak

	 (E)	 None of the above/More than one 

of the above

	 49.	 If Z = 52, ACT = 48, then BAT =

	 (A)	 41

	 (B)	 44

	 (C)	 39

	 (D)	 46

	 (E)	 None of the above/More than one 

of the above

	 50.	 Which of the following schemes has 

been launched by the Foundation of 

Science innovation and development 

for social use of data in India ?

	 (A)	 Data Through R.T.I.

	 (B)	 Data for Good Governance

	 (C)	 Data for Public Good

	 (D)	 More than one of the above

	 (E)	 None of the above

	 51.	 PURA is a strategy for rural 
development in India, proposed by 
A.P.J. Abdul Kalam was started in 
the year

	 (A)	 2003

	 (B)	 2002

	 (C)	 2004

	 (D)	 2001

	 (E)	 None of the above/More than one 
of the above

	 52.	 Every rational number is

	 (A)	 Integer

	 (B)	 Natural number

	 (C)	 Real number

	 (D)	 Whole number

	 (E)	 None of the above/More than one 
of the above

	 53.	 Amaterasu, the highly energetic  

particle discovered by astronomers, 

was named on the following basis 

	 (A)	 American Moon Goddess

	 (B)	 Italian Sun God

	 (C)	 Japanese Sun Goddess

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 48.	 ‘gË`mW© àH$me’ Ho$ boIH$ h¢

	 (A)	 X`mZÝX gañdVr

	 (B)	 ñdm_r {ddoH$mZÝX

	 (C)	 amOm am__mohZ am`

	 (D)	 ~mbJ§JmYa {VbH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 49.	 `{X Z = 52, ACT = 48 V~ BAT =

	 (A)	 41

	 (B)	 44

	 (C)	 39

	 (D)	 46

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 50.	 ^maV _| S>mQ>m Ho$ gm_m{OH$ Cn`moJ hoVw 

\$mCÊS>oeZ Am°\$ gmB§g BZmodoeZ E§S> S>odbn_|Q> 

Ûmam {ZåZ{b{IV _| go {H$g `moOZm H$s ewéAmV 

H$s JB© h¡ ?

	 (A)	 S>mQ>m W«y Ama.Q>r.AmB©.

	 (B)	 S>mQ>m \$m°a JwS> JdZ]g

	 (C)	 S>mQ>m \$m°a npãbH$ JwS>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 51.	 ^maV _| J«m_rU {dH$mg Ho$ {bE, E.nr.Oo. 

AãXþb H$bm_ Ûmam àñVm{dV ì`yhaMZm "nwam' 

àmaå^ H$s J`r Wr, df©

	 (A)	 2003 _|

	 (B)	 2002 _|

	 (C)	 2004 _|

	 (D)	 2001 _|

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 52.	 àË`oH$ n[a_o` g§»`m h¡

	 (A)	 nyUmªH$

	 (B)	 àmH¥${VH$ g§»`m

	 (C)	 dmñV{dH$ g§»`m

	 (D)	 nyU© g§»`m

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 53.	 IJmob d¡km{ZH$m| Ûmam ImoOo JE AË`{YH$ D$Om© 

dmbo nm{Q>©H$b A_¡Vamgy (Amaterasu) H$m 

Zm_H$aU {ZåZ AmYma na {H$`m J`m 

	 (A)	 A_o[aH$Z M§Ðm Xodr

	 (B)	 BQ>m{b`Z gy`© Xod

	 (C)	 OmnmZr gy`© Xodr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 54.	 Which one of the following dynasties 

ruled for the maximum period ?

	 (A)	 Gupta

	 (B)	 Kushana

	 (C)	 Maurya

	 (D)	 Vardhan

	 (E)	 None of the above/More than one 

of the above

	 55.	 Which one of the following rivers of 
Bihar originates from Amarkantak ?

	 (A)	 Kamala

	 (B)	 Punpun

	 (C)	 Ajay

	 (D)	 Son

	 (E)	 None of the above/More than 
one of the above

	 56.	 The sum of first five prime numbers is
	 (A)	 26
	 (B)	 18
	 (C)	 28
	 (D)	 11
	 (E)	 None of the above/More than one 

of the above

	 57.	 ‘Planning Commission’ was replaced 
by a new institution – NITI Aayog on

	 (A)	 January 1, 2016

	 (B)	 April 15, 2015

	 (C)	 April 15, 2016

	 (D)	 January 1, 2015

	 (E)	 None of the above/More than one 
of the above

	 58.	 Acid reacts with bases to form salt 

and water. The reaction is known as

	 (A)	 Decomposition

	 (B)	 Combination

	 (C)	 Reduction

	 (D)	 Neutralization

	 (E)	 None of the above/More than one 

of the above

	 59.	 The missing terms in AP
		  _______ 13 _______ 3 are

	 (A)	 18 and 9

	 (B)	 17 and 9

	 (C)	 18 and 8

	 (D)	 11 and 9

	 (E)	 None of the above/More than one 
of the above

	 60.	 Acting chief justice of India is 

appointed by the

	 (A)	 President

	 (B)	 Chief justice of India with previous 

consent of the President

	 (C)	 President in consultation with the 

Chief Justice of India

	 (D)	 Chief justice of India

	 (E)	 None of the above/More than one 

of the above
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	 54.	 {ZåZ{b{IV _| go {H$g d§e Zo g~go A{YH$ 
g_` VH$ emgZ {H$`m ?

	 (A)	 JwßV

	 (B)	 Hw$fmU

	 (C)	 _m¡`©

	 (D)	 dY©Z

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 55.	 {~hma H$s {ZåZ Z{X`m| _| go H$m¡Z-gr EH$ ZXr 
A_aH§$Q>H$ go CËnÞ hmoVr h¡ ?

	 (A)	 H$_bm
	 (B)	 nwZnwZ
	 (C)	 AO`
	 (D)	 gmoZ
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 56.	 nhbo nm§M A^mÁ` g§»`mAm| H$m `moJ h¡
	 (A)	 26
	 (B)	 18
	 (C)	 28
	 (D)	 11
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 57.	 "`moOZm Am`moJ' H$mo "Zr{V Am`moJ' Ûmam 
à{VñWm{nV {H$`m J`m

	 (A)	 OZdar 1, 2016

	 (B)	 Aà¡b 15, 2015

	 (C)	 Aà¡b 15, 2016

	 (D)	 OZdar 1, 2015

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 58.	 Aåb jma Ho$ gmW {H«$`m H$aHo$ bdU VWm nmZr 

~ZmVo h¢ & Bg à{V{H«$`m H$mo Š`m H$hVo h¡§ ?

	 (A)	 n¥WŠH$aU

	 (B)	 g§`moOZ

	 (C)	 g_mZ`Z

	 (D)	 {Zîà^mdrH$aU

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 59.	 AP _| bwßV nX h¡
		  _______ 13 _______ 3

	 (A)	 18 Am¡a 9

	 (B)	 17 Am¡a 9

	 (C)	 18 Am¡a 8

	 (D)	 11 Am¡a 9

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 60.	 ^maV H$m H$m`©dmhH$ _w»` Ý`m`mYre {Z`wŠV 

{H$`m OmVm h¡ 

	 (A)	 amîQ´>n{V Ûmam

	 (B)	 amîQ´>n{V H$s nyd© ñdrH¥${V go ^maV Ho$  

_w»` Ý`m`mYre Ûmam

	 (C)	 ^maV Ho$ _w»` Ý`m`mYre Ho$ nam_e© go 

amîQ´>n{V Ûmam

	 (D)	 ^maV Ho$ _w»` Ý`m`mYre Ûmam

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$
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	 61.	 Which one of the following districts 
of Bihar has magnetite ?

	 (A)	 Jamui

	 (B)	 Bhagalpur

	 (C)	 Begusarai

	 (D)	 Gaya

	 (E)	 None of the above/More than 
one of the above

	 62.	 A rainbow is always formed in a 
direction

	 (A)	 Above the sun

	 (B)	 Below the sun

	 (C)	 At the level of the sun

	 (D)	 Opposite to the sun

	 (E)	 None of the above/More than one 
of the above

	 63.	 Consider the following functionaries :
	 1.	 Cabinet Secretary
	 2.	 Chief Election Commissioner
	 3.	 Union Cabinet Ministers
	 4.	 Chief Justice of India

		  Their correct sequence in the order 
of precedence is

		  Choose the answer from the codes 
given below :

		  Codes :
	 (A)	 4, 3, 2, 1
	 (B)	 4, 3, 1, 2
	 (C)	 3, 4, 1, 2
	 (D)	 3, 4, 2, 1
	 (E)	 None of the above/More than one 

of the above

	 64.	 Where was the 59th International 
Tropical Timber Council meeting be 
held in 17 November 2023 ?

	 (A)	 Jakarta Indonesia

	 (B)	 Toronto Canada

	 (C)	 Pattaya Thailand

	 (D)	 More than one of the above

	 (E)	 None of the above

	 65.	 Which of the following is a plant 
hormone ?

	 (A)	 Oestrogen
	 (B)	 Thyroxin
	 (C)	 Cytokinin
	 (D)	 Insulin
	 (E)	 None of the above/More than one 

of the above

	 66.	 Find the wrong number in the series.
		  1, 2, 6, 15, 31, 56, 91
	 (A)	 56
	 (B)	 31
	 (C)	 91
	 (D)	 15
	 (E)	 None of the above/More than one 

of the above

	 67.	 As per union budget, during 
financial year 2022-23, the share of 
estimated fiscal deficit in GDP is 

	 (A)	 7.4 percent
	 (B)	 6.8 percent
	 (C)	 7.8 percent
	 (D)	 6.4 percent
	 (E)	 None of the above/More than one 

of the above
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	 61.	 {~hma Ho$ {H$g {Obo _| _¡½ZoQ>mBQ> nm`m OmVm h¡ ?

	 (A)	 O_wB©

	 (B)	 ^mJbnwa

	 (C)	 ~oJygam`

	 (D)	 J`m

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 62.	 BÝÐYZwf h_oem {ZåZ{b{IV _| go {H$g {Xem 
(pñW{V) _| ~ZVm h¡ ?

	 (A)	 gy`© Ho$ D$na H$s pñW{V _|

	 (B)	 gy`© go ZrMo H$s pñW{V _|

	 (C)	 gy`© Ho$ bodb na

	 (D)	 gy`© go {dnarV {Xem _|

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH

	 63.	 {ZåZ{b{IV A{YH$m[a`m| na {dMma H$s{OE :
	 1.	 _§{Ì_§S>b g{Md
	 2.	 _w»` {Zdm©MZ Am`wŠV
	 3.	 g§Kr` _§{Ì_§S>b gXñ`
	 4.	 ^maV Ho$ _w»` Ý`m`mYre

		  AJ«Vm-H«$_ _| BZH$m ghr AZwH«$_ h¢ 

		  ZrMo {X`o J`o Hy$Q>m| H$s ghm`Vm go ghr CÎma 
Mw{ZE :

		  Hy$Q> :
	 (A)	 4, 3, 2, 1
	 (B)	 4, 3, 1, 2
	 (C)	 3, 4, 1, 2
	 (D)	 3, 4, 2, 1
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 64.	 59d| A§VaamîQ´>r` Q´>m°{nH$b qQ>~a H$mC§{gb H$s 
~¡R>H$ 17 Zd§~a 2023 H$mo H$hm± g§nÝZ hþB© ?

	 (A)	 OH$mVm© B§S>moZo{e`m

	 (B)	 Q>moa§Q>mo H$ZmS>m

	 (C)	 nQ>m`m WmB©b¢S>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 65.	 {ZåZ{b{IV _| go H$m¡Z EH$ dmZñn{VH$ 		
hm_m}Z h¡ ?

	 (A)	 EñQ´>moOZ
	 (B)	 Wm`amopŠgZ
	 (C)	 gmBQ>moH$mB{ZZ
	 (D)	 BÝgy{bZ
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 66.	 ûm§¥Ibm _| JbV g§»`m kmV H$s{OE &
		  1, 2, 6, 15, 31, 56, 91
	 (A)	 56
	 (B)	 31
	 (C)	 91
	 (D)	 15
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 67.	 g§Kr` ~OQ> Ho$ AZwgma>, {dÎmr` df© 2022-23 
Ho$ Xm¡amZ OrS>rnr _| AZw_m{ZV amOH$mofr` KmQ>o 
H$m {hñgm h¡

	 (A)	 7.4 à{VeV
	 (B)	 6.8 à{VeV
	 (C)	 7.8 à{VeV
	 (D)	 6.4 à{VeV
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$
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	 68.	 The value of x in the 
		  12 : 30 : : 14 : x
		  will be
	 (A)	 40
	 (B)	 35
	 (C)	 45
	 (D)	 30
	 (E)	 None of the above/More than one 

of the above

	 69.	 Which campaign has been started by 
Prime Minister for tribal welfare in 
India ?

	 (A)	 Prime Minister Tribal Justice 	
Maha Abhiyan

	 (B)	 Justice Maha Abhiyan

	 (C)	 Tribal Maha Abhiyan

	 (D)	 More than one of the above

	 (E)	 None of the above

	 70.	 Which of the following pairs is not 
correct ?

	 (A)	 Sher Shah	 –	Mausoleum in
		  Suri 		  Samastipur
	 (B)	 Dr. Rajendra	 –	President of
		  Prasad		  Constituent	

		  Assembly
	 (C)	 Establishment	 –	1916 A.D.
		  of Patna High
		  Court
	 (D)	 Swami	 –	All India 

Sahajananda 		  Kisan Sabha
		  Saraswati 		

	 (E)	 None of the above/More than one 
of the above

	 71.	 The development of MSMEs are 
preferred in Bihar because

	 (A)	L esser amount of capital is 
required

	 (B)	L imited land is required
	 (C)	 Capacity to absorb labour is 

high
	 (D)	 All the above
	 (E)	 None of the above/More than one 

of the above

	 72.	 Which one of the following is not 
appointed by the President of India ?

	 (A)	 Governor
	 (B)	 Prime Minister
	 (C)	 Chief Election Commissioner
	 (D)	 Vice-President
	 (E)	 None of the above/More than one 

of the above

	 73.	 Which of the following statements 
regarding the constituent Assembly 
are true ?

	 1.	 It was not based on adult 
franchise.

	 2.	 It resulted from direct elections.
	 3.	 It was multi-party body.
	 4.	 It worked through several 

committees.
		  Select the correct answer from the 

codes given below :
	 	 Codes :

	 (A)	 1 and 4

	 (B)	 2 and 3

	 (C)	 1, 2, 3 and 4

	 (D)	 1 and 2

	 (E)	 None of the above/More than one 
of the above



05/HM/M–2024/A	 25	 [ P.T.O.

	 68.	 12 : 30 : : 14 : x

		  _| x H$m _mZ hmoJm
	 (A)	 40
	 (B)	 35
	 (C)	 45
	 (D)	 30
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 69.	 àYmZ_§Ìr Ûmam ^maV _| Am{Xdmgr H$ë`mU hoVw 

{ZåZ{b{IV _| go H$m¡Z-gm A{^`mZ ewê$ {H$`m 

J`m h¡ ?

	 (A)	 àYmZ_§Ìr OZOm{V Am{Xdmgr Ý`m` 		

_hm A{^`mZ

	 (B)	 Ý`m` _hm A{^`mZ

	 (C)	 Am{Xdmgr _hm A{^`mZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 70.	 {ZåZ _| go H$m¡Z-gr Omo‹S>r ghr Zht h¡ ?

	 (A)	 eoaemh gyar	 -	g_ñVrnwa _| _H$~am

	 (B)	 S>m°. amOoÝÐ	 -	g§{dYmZ g^m Ho$ 

àgmX 		 AÜ`j

	 (C)	 nQ>Zm CÀM 	 -	1916 B©.

		  Ý`m`mb`

		  H$s ñWmnZm

	 (D)	 ñdm_r ghOmZÝX	 -	Am°b BpÊS>`m {H$gmZ

		  gañdVr		  g^m

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 71.	 {~hma _| E_EgE_B© Ho$ {dH$mg H$mo dar`Vm Xr 
OmVr h¡, Š`m|{H$

	 (A)	 ny±Or H$s H$_ _mÌm H$s Oê$aV hmoVr h¡
	 (B)	 H$_ ^y_r H$s Oê$aV hmoVr h¡
	 (C)	 l_ H$mo InmZo H$s j_Vm A{YH$ h¡
	 (D)	 CnamoŠV g^r
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 72.	 {ZåZ{b{IV _| go ^maV H$m amîQ´>n{V {H$gH$s 
{Z`wpŠV Zht H$aVm h¡ ?

	 (A)	 amÁ`nmb

	 (B)	 àYmZ_§Ìr

	 (C)	 _w»` {Zdm©MZ Am`wŠV

	 (D)	 Cn-amîQ´>n{V

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 73.	 g§{dYmZ g^m Ho$ gå~ÝY _| {ZåZ{b{IV _| 
H$m¡Z-gm/go EH$ H$WZ gË` h¡ ?

	 1.	 `h d`ñH$ _Vm{YH$ma na AmYm[aV Zht Wr &

	 2.	 `h àË`j _VXmZ H$m \$b Wr &

	 3.	 `h ~hþ-Xbr` {ZH$m` Wm &

	 4.	 Bg_| H$m ©̀ H$aZo Ho$ {bE H$B© g{_{V`m± Wr &

		  ZrMo {XE J ò Hy$Q> H$s ghm`Vm go ghr CÎma H$m 
M`Z H$a| :

		  Hy$Q> :

	 (A)	 1 Am¡a 4

	 (B)	 2 Am¡a 3

	 (C)	 1, 2, 3 Am¡a 4

	 (D)	 1 Am¡a 2

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$
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	 74.	 The ultraviolet radiations from the 
sun is likely to cause

	 (A)	L iver cancer
	 (B)	L ung cancer
	 (C)	 Brain cancer
	 (D)	 Skin cancer
	 (E)	 None of the above/More than one 

of the above

	 75.	 The Kaiga nuclear power plant is 
located in

	 (A)	 Andhra Pradesh
	 (B)	 Kerala
	 (C)	 Tamil Nadu
	 (D)	 Karnataka
	 (E)	 None of the above/More than 

one of the above

	 76.	 Where was the second session of the 
Indian National Congress held ?

	 (A)	 Poona

	 (B)	 Delhi

	 (C)	L ahore

	 (D)	 Calcutta

	 (E)	 None of the above/More than one 
of the above

	 77.	 Which of the following is a perfect 
square ?

	 (A)	 7928

	 (B)	 625

	 (C)	 64000

	 (D)	 1057

	 (E)	 None of the above/More than one 
of the above

	 78.	 As per Census 2011, female literacy 
rate in Bihar was

	 (A)	 55.3 percent

	 (B)	 54.1 percent

	 (C)	 56.1 percent

	 (D)	 53.3 percent

	 (E)	 None of the above/More than one 
of the above

	 79.	 According to NITI Aayog, in the 

year 2021-22, in which one of the 

following States, multidimentional 

Poverty Index (MPI) was the lowest ?

	 (A)	 Madhya Pradesh

	 (B)	 Uttar Pradesh

	 (C)	 Meghalaya

	 (D)	 Bihar

	 (E)	 None of the above/More than one 

of the above

	 80.	 The average of seven numbers is 
18. If one of the number is 17 and 
is replaced by 31, then the average 
becomes

	 (A)	 21

	 (B)	 20

	 (C)	 22

	 (D)	 19

	 (E)	 None of the above/More than one 
of the above
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	 74.	 gỳ © go AmZo dmbo AëQ́>mdm`boQ> {d{H$aU 
{ZåZ{b{IV _| go H$m¡Z-gm H¡$Ýga n¡Xm H$aVo h¢ ?

	 (A)	 `H¥$V H$m H¡$Ýga
	 (B)	 \o$\$‹S>o H$m H¡$Ýga
	 (C)	 ~«oZ H$m H¡$Ýga
	 (D)	 ËdMm H$m H¡$Ýga
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 75.	 H¡$Jm na_mUw D$Om© ßbm§Q> pñWV h¡
	 (A)	 AmÝY« àXoe _|
	 (B)	 Ho$ab _|
	 (C)	 V{_bZmSw> _|
	 (D)	 H$Zm©Q>H$ _|
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 76.	 ^maVr` amîQ´>r` H$m§J«og H$m {ÛVr` A{YdoeZ 
H$hm± na hþAm Wm ?

	 (A)	 nyZm

	 (B)	 {Xëbr

	 (C)	 bmhm¡a

	 (D)	 H$bH$Îmm

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 77.	 {ZåZ _| go H$m¡Z-gm nyU© dJ© h¡ ?
	 (A)	 7928
	 (B)	 625
	 (C)	 64000
	 (D)	 1057

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 78.	 OZJUZm 2011 Ho$ AZwgma, {~hma _| _{hbm 
gmjaVm Xa Wr 

	 (A)	 55.3 à{VeV

	 (B)	 54.1 à{VeV

	 (C)	 56.1 à{VeV

	 (D)	 53.3 à{VeV

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 79.	 Zr{V Am`moJ Ho$ AZwgma, df© 2021-22 _|, 

{ZåZ amÁ`m| _| go {H$g EH$ _| _ëQ>rS>mB_oÝeZb 

nmdQ>u BÝS>oŠg (E_nrAmB©) g~go {ZåZ Wm ?

	 (A)	 _Ü` àXoe

	 (B)	 CÎma àXoe

	 (C)	 _oKmb`

	 (D)	 {~hma

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 80.	 gmV g§»`mAm| H$m Am¡gV 18 h¡ & `{X BZ 
g§»`mAm| _| go 17 H$mo 31 go ~Xb {X`m OmVm 
h¡, Vmo Am¡gV ~Z Om`oJm

	 (A)	 21

	 (B)	 20

	 (C)	 22

	 (D)	 19

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$
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	 81.	 Who was the President of the 

Constitution drafting Committee ?

	 (A)	 Dr. Rajendra Prasad

	 (B)	 K. M. Munshi

	 (C)	 Sacchidananda Sinha

	 (D)	 Dr. B. R. Ambedkar

	 (E)	 None of the above/More than one 

of the above

	 82.	 Where does river Ghagra meet with 
river Ganga in Bihar ?

	 (A)	 Hazipur

	 (B)	 Vaishali

	 (C)	 Kursela

	 (D)	 Revelganj

	 (E)	 None of the above/More than 
one of the above

	 83.	 The Committee on whose 

recommendation, the Panchayati Raj 

was introduced in the country was 

headed by

	 (A)	 Chiman Bhai Mehta

	 (B)	 Balwant Rai Mehta

	 (C)	 Jivraj Mehta

	 (D)	 Ashok Mehta

	 (E)	 None of the above/More than one 

of the above

	 84.	 Where among the following is 
the Sauria Punduyana plant, 
declared endangered by nature 
of the International Union for 
Conservation, found in India ?

	 (A)	 Dehradoon Uttarakhand

	 (B)	 Tamanglong Manipur

	 (C)	 Kaimur Bihar

	 (D)	 More than one of the above

	 (E)	 None of the above 

	 85.	 In February 1946 A.D. Naval Mutiny 

started from where ?

	 (A)	 Vishakhapatnam

	 (B)	 Karachi

	 (C)	 Calcutta

	 (D)	 Bombay

	 (E)	 None of the above/More than one 

of the above

	 86.	 New Economic policy in India was 

introduced in

	 (A)	 July 1991

	 (B)	 March 1990

	 (C)	 April 1992

	 (D)	 June 1993

	 (E)	 None of the above/More than 

one of the above
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	 81.	 g§{dYmZ àmê$n g{_{V Ho$ AÜ`j H$m¡Z Wo ?

	 (A)	 S>m°. amOoÝÐ àgmX

	 (B)	 Ho$. E_. _wÝer

	 (C)	 gpÀMXmZÝX {gÝhm

	 (D)	 S>m°. ~r. Ama. Aå~oS>H$a

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 82.	 {~hma _| KmJam ZXr J§Jm ZXr go H$hm± na  

{_bVr h¡ ?

	 (A)	 hmOrnwa _|

	 (B)	 d¡embr _|

	 (C)	 Hw$g}bm _|

	 (D)	 aodbJ§O _|

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 83.	 g{_{V, {OgH$s g§ñVw{V na Xoe _| n§Mm`Vr amO 

H$mo bmJy {H$`m J`m Wm, CgHo$ AÜ`j Wo

	 (A)	 {M_Z ^mB© _ohVm

	 (B)	 ~bdÝVam` _ohVm

	 (C)	 OrdamO _ohVm

	 (D)	 AemoH$ _ohVm

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 84.	 B§Q>aZoeZb `y{Z`Z \$m°a H§$Od}eZ H$m ZoMa 

Ûmam bwßVàm` Kmo{fV gm¡[a`m nw§Sw>`mZm nm¡Ym 

{ZåZ{b{IV _| go ^maV _| H$hm± nm`m J`m h¡ ?

	 (A)	 XohamXÿZ CËVamIÊS>

	 (B)	 V_m§Jbm§J _{Unwa

	 (C)	 H¡$_ya {~hma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 85.	 \$adar 1946 B©. _| Zm¡goZm H$m {dÐmoh H$hm± go 

àmaå^ hþAm ?

	 (A)	 {demImnÅ>Z_

	 (B)	 H$amMr

	 (C)	 H$bH$Îmm

	 (D)	 ~å~B©

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 86.	 ^maV _| ZdrZ Am{W©H$ `moOZm H$m ew^maå^ 

hþAm 

	 (A)	 OwbmB© 1991

	 (B)	 _mM© 1990

	 (C)	 Aà¡b 1992

	 (D)	 OyZ 1993

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$
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	 87.	 In which city of India was Humfest 
India 2023 organized ?

	 (A)	 Patna Bihar

	 (B)	 Ahmedabad Gujarat

	 (C)	 Mumbai Maharashtra

	 (D)	 More than one of the above

	 (E)	 None of the above

	 88.	 Who was the twenty third 
Tirthankara of Jainism ?

	 (A)	 Arishtanemi
	 (B)	 Parsvanath
	 (C)	 Vardhaman Mahavir
	 (D)	 Neminath
	 (E)	 None of the above/More than one 

of the above

	 89.	 What should come in place of (?) in 
the following number series ?

		  132, 156, ?, 210, 240, 272

	 (A)	 182

	 (B)	 199

	 (C)	 204

	 (D)	 196

	 (E)	 None of the above/More than one 
of the above

	 90.	 ‘Jal Jeevan Mission’ scheme was 
declared in the budget for the 
financial year

	 (A)	 2021-22
	 (B)	 2020-21
	 (C)	 2022-23
	 (D)	 2019-20
	 (E)	 None of the above/More than one 

of the above

	 91.	 The mirror used by ENT specialist is
	 (A)	 Convex mirror
	 (B)	 Concave mirror
	 (C)	 Plano-convex mirror
	 (D)	 Plane mirror
	 (E)	 None of the above/More than one 

of the above

	 92.	 Who have thrown bomb in the 
central assembly on 8th April 1929 ? 

	 (A)	 Bhagat Singh and Batukeshwar 
Dutt

	 (B)	 Chandrashekar Azad and 
Rasbehari Bose

	 (C)	 Sardar Udham Singh and 
Yashpal

	 (D)	 Bhagat Singh and Rajguru

	 (E)	 None of the above/More than one 
of the above

	 93.	 Who announces the Monetary Policy 
in India ?

	 (A)	 SEBI
	 (B)	 Reserve Bank of India
	 (C)	 Finance Ministry
	 (D)	 Planning Commission
	 (E)	 None of the above/More than one 

of the above

	 94.	 Ramesh walks 10 km towards north, 
from there he walks 6 km towards 
south, then he walks 3 km towards 
east. How far is he from his starting 
point ?

	 (A)	 7 km

	 (B)	 6 km

	 (C)	 10 km

	 (D)	 5 km

	 (E)	 None of the above/More than one 
of the above
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	 87.	 h_\o$ñQ> B§{S>`m 2023 H$m Am`moOZ ^maV Ho$ 
{H$g eha _| {H$`m J`m ?

	 (A)	 nQ>Zm {~hma

	 (B)	 Ah_Xm~mX JwOamV

	 (C)	 _w§~B© _hmamîQ´>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 88.	 O¡Z Y_© Ho$ VoB©gd| VrWªH$a H$m¡Z Wo ?
	 (A)	 A[aîQ>Zo{_
	 (B)	 nmíd©ZmW
	 (C)	 dY©_mZ _hmdra
	 (D)	 Zo{_ZmW
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 89.	 {ZåZ g§»`m ûm§¥Ibm _| (?) Ho$ ñWmZ na Š`m 
AmZm Mm{hE ?

		  132, 156, ?, 210, 240, 272
	 (A)	 182
	 (B)	 199
	 (C)	 204
	 (D)	 196

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 90.	 "Ob OrdZ {_eZ' ñH$s_ {H$g {dÎmr` df© Ho$ 
~OQ> _| Kmo{fV H$s J`r Wr ?

	 (A)	 2021-22
	 (B)	 2020-21
	 (C)	 2022-23
	 (D)	 2019-20

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 
go A{YH$

	 91.	 ENT specialist S>mŠQ>a Ûmam {ZåZ _| go {H$g 
Vah H$m Xn©U à`moJ {H$`m OmVm h¡ ?

	 (A)	 CÎmb Xn©U
	 (B)	 AdVb Xn©U
	 (C)	 g_VbmoÎmb Xn©U 
	 (D)	 g_Vb Xn©U
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH

	 92.	 8 Aà¡b 1929 H$mo Ho$ÝÐr` Agoå~br _| ~_ 
\|$H$Zo dmbo H$m¡Z Wo ?

	 (A)	 ^JV qgh Ed§ ~Qw>Ho$ída XÎm

	 (B)	 MÝÐeoIa AmµOmX Ed§ amg{~hmar ~mog

	 (C)	 gaXma D$Y_ qgh Ed§ `enmb
	 (D)	 ^JV {g§h Ed§ amOJwé
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 93.	 ^maV _| _m¡{ÐH$ Zr{V H$m¡Z Kmo{fV H$aVm h¡ ?
	 (A)	 go~r
	 (B)	 ^maVr` [aOd© ~¢H$
	 (C)	 {dÎm _§Ìmb`
	 (D)	 `moOZm Am`moJ
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 94.	 a_oe 10 {H$._r. CÎma _| MbVm h¡ & dhm± go 
dh 6 {H$._r. X{jU _|, {\$a dh 3 {H$._r. 
nyd© _| MbVm h¡ & dh AnZo àñWmZ {~ÝXþ go 
{H$VZm Xÿa h¡ ?

	 (A)	 7 {H$._r.
	 (B)	 6 {H$._r.
	 (C)	 10 {H$._r.
	 (D)	 5 {H$._r.
	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$
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	 95.	 In 1922 A.D. under the Presidentship 
of Chittaranjan Das where was the 
session of Indian National Congress 
held ?

	 (A)	 Gaya

	 (B)	 Chhapra

	 (C)	 Purnea

	 (D)	 Bhagalpur

	 (E)	 None of the above/More than one 
of the above

	 96.	 Among the following dynasties which 
dynasty was first to rule ?

	 (A)	L odi

	 (B)	 Tughluq

	 (C)	 Khalji

	 (D)	 Sayyid

	 (E)	 None of the above/More than one 
of the above

	 97.	 How many women have been 
selected for the year 2023-24 for 
using drones under the Central 
Sector Scheme to empower women in 
the agricultural sector ?

	 (A)	 1551

	 (B)	 1500

	 (C)	 1151

	 (D)	 More than one of the above

	 (E)	 None of the above

	 98.	 Which one of the following hills is 

found where the Eastern Ghat and 

Western Ghat meets ?

	 (A)	 Ajanta

	 (B)	 Satpura

	 (C)	 Anaimalai

	 (D)	 Nilgiri

	 (E)	 None of the above/More than 

one of the above

	 99.	 Among the following who was first to 

come to India ?

	 (A)	 Megasthenes

	 (B)	 Itsing

	 (C)	 Fa-Hien

	 (D)	 Hiuen Tsang

	 (E)	 None of the above/More than one 

of the above

	100.	 The pairs of equations

		  x + 2y – 5 = 0

		  –4x – 8y + 20 = 0 have

	 (A)	 Infinitely many solutions

	 (B)	 Exactly two solutions

	 (C)	 No solution

	 (D)	 Unique solution

	 (E)	 None of the above/More than one 

of the above
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	 95.	 1922 B©. _| {MËVa§OZ Xmg H$s AÜ`jVm _| 

^maVr` amîQ´>r` H$m§J«og H$m A{YdoeZ H$hm± na 

hþAm Wm ?

	 (A)	 J`m

	 (B)	 N>nam

	 (C)	 ny{U©`m

	 (D)	 ^mJbnwa

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 96.	 {ZåZ{b{IV d§em| _| go {H$g d§e Zo g~go nhbo 

emgZ {H$`m ?

	 (A)	 bmoXr

	 (B)	 VwµJbH$

	 (C)	 IëOr

	 (D)	 gæ`X

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 97.	 H¥${f joÌ _| _{hbmAm| H$mo geº$ H$aZo Ho$ {bE 

g|Q´>b goŠQ>a ñH$s_ Ho$ VhV S´>moZ Cn`moJ hoVw 

df© 2023-24 _| {H$VZo _{hbmAm| H$mo M`{ZV 

{H$`m J`m h¡ ?

	 (A)	 1551

	 (B)	 1500

	 (C)	 1151

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 98.	 {ZåZ{b{IV nhm{‹S>`m| _| go H$m¡Z-gr EH$ nhm‹S>r 

nm`r OmVr h¡, Ohm± na nydu VWm npíM_r KmQ> 

Amng _| {_bVo h¢ ?

	 (A)	 AOÝVm

	 (B)	 gËnwam

	 (C)	 AZm_bmB©

	 (D)	 Zrb{Jar

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$

	 99.	 {ZåZ{b{IV _| go g~go nhbo ^maV AmZo dmbm 

H$m¡Z Wm ?

	 (A)	 _oJñWZrO

	 (B)	 BpËg¨J

	 (C)	 \$mømZ

	 (D)	 ˆoZgm§J

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$$

	100.	 g_rH$aUm| Ho$ Omo‹S>o

		  x + 2y – 5 = 0

		  –4x – 8y + 20 = 0 h¡

	 (A)	 Agr{_V g_mYmZ

	 (B)	 R>rH$ Xmo g_mYmZ

	 (C)	 H$moB© g_mYmZ Zht

	 (D)	 EH$_mÌ g_mYmZ

	 (E)	 Cn`w©ŠV _| go H$moB© Zht/Cn`w©ŠV _| go EH$ 

go A{YH$
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PART – II

	101.	 What is the nature of measurement ?

	 (A)	 Quantitative

	 (B)	 Mixed

	 (C)	 Qualitative

	 (D)	 More than one of the above

	 (E)	 None of the above

	102.	 Who among the following was mainly 
naturalist in choice of educational 
methods ?

	 (A)	 R. N. Tagore

	 (B)	 Swami Vivekanand

	 (C)	 Sri Aurobindo

	 (D)	 More than one of the above

	 (E)	 None of the above

	103.	 Who was the Chairman of Education 
Commission (1964-66) ?

	 (A)	 S. Radhakrishnan

	 (B)	 D. S. Kothari

	 (C)	L . S. Mudaliyar

	 (D)	 More than one of the above

	 (E)	 None of the above

	104.	 Who gave concept attainment model ?

	 (A)	 Jerome Bruner

	 (B)	 Robert Glaser

	 (C)	 David Ausubel

	 (D)	 More than one of the above

	 (E)	 None of the above

	105.	 “Truth is a pathless land.” Who has 
said it ?

	 (A)	 Aurobindo Ghosh
	 (B)	 J. Krishnamurti
	 (C)	 Rabindranath Tagore
	 (D)	 More than one of the above
	 (E)	 None of the above

	106.	 Questioning is a skill but what is 
the term used to indicate ‘language 
of the question, its pace, type and 
distribution in a specific situation’ ?

	 (A)	 Tactice
	 (B)	 Skill
	 (C)	 Technique
	 (D)	 More than one of the above
	 (E)	 None of the above

	107.	 What is the title of the report of 
National Education Commission 
1964-66 ?

	 (A)	 Education and National 
Development

	 (B)	 Education for National 
Empowerment

	 (C)	 Education and National 
Integration

	 (D)	 More than one of the above
	 (E)	 None of the above

	108.	 Who gave concept of ‘Basic 
Education’ ?

	 (A)	 Azad
	 (B)	 R. N. Tagore
	 (C)	 M. K. Gandhi
	 (D)	 More than one of the above
	 (E)	 None of the above
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PART – II

	101.	 _mnZ H$s àH¥${V Š`m hmoVr h¡ ?

	 (A)	 _mÌmË_H$

	 (B)	 {_{lV

	 (C)	 JwUmË_H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	102.	 {ZåZ{b{IV _| H$m¡Z e¡{jH$ {d{Y`m| Ho$ M`Z _| 
{deofV: àH¥${VdmXr Wm ?

	 (A)	 Ama. EZ. Q>¡Jmoa

	 (B)	 ñdm_r {ddoH$mZÝX

	 (C)	 lr Aaq~Xmo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	103.	 {ejm Am`moJ (1964-66) H$m AÜ`j H$m¡Z Wm ?

	 (A)	 Eg. amYmH¥$îUZ

	 (B)	 S>r. Eg. H$moR>mar

	 (C)	 Eb. Eg. _wXm{b`a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	104.	 gåàË`` gåàmpßV à{V_mZ {H$gZo {X`m ?

	 (A)	 Ooamo_ ~«wZa

	 (B)	 am~Q>© ½boOa

	 (C)	 S>o{dS> Amgw~ob

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	105.	 “gË` EH$ nWhrZ ŷ{_ h¡ &” `h {H$gZo H$hm h¡ ?

	 (A)	 Aaq~Xmo Kmof

	 (B)	 Oo. H¥$îU_y{V©

	 (C)	 a{dÝÐZmW Q>¡Jmoa

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	106.	 àíZ H$aZm EH$ H$m¡eb h¡ naÝVw ‘ {H$gr {d{eîQ> 

n[apñW{V _| àíZ H$s ^mfm, BgH$s J{V, àH$ma 

Am¡a àgma’ Ho$ Cn`moJ H$mo g§Ho$V H$aZo hoVw {H$g 

eãX H$mo à`wŠV {H$`m OmVm h¡ ?

	 (A)	 Q>opŠQ>g

	 (B)	 pñH$b

	 (C)	 Q>opŠZH$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	107.	 amîQ´>r` {ejm Am`moJ 1964-66 Ho$ à{VdoXZ 

H$m erf©H$ Š`m h¡ ?

	 (A)	 {ejm Ed§ amîQ´>r` {dH$mg

	 (B)	 amîQ´>r` geŠVrH$aU Ho$ {bE {ejm 

	 (C)	 {ejm Ed§ amîQ´>r` EH$Vm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	108.	 ‘~w{Z`mXr {ejm’ H$s AdYmaUm {H$gZo {X`m ?

	 (A)	 AmOmX
	 (B)	 Ama. EZ. Q>¡Jmoa
	 (C)	 E_. Ho$. Jm±Yr
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	109.	 The observations on which of the 

scale of measurement cannot be 

added ?

	 (A)	 Nominal and ordinal

	 (B)	 Ratio

	 (C)	 Interval

	 (D)	 More than one of the above

	 (E)	 None of the above

	110.	 Which model of teaching has been 

given by Robert Glaser ?

	 (A)	 Interaction Model

	 (B)	 Basic Teaching Model

	 (C)	 Concept Attainment Model

	 (D)	 More than one of the above

	 (E)	 None of the above

	111.	 What is the main basis of evaluation ?

	 (A)	 Measurement

	 (B)	 Grading

	 (C)	 Scoring

	 (D)	 More than one of the above

	 (E)	 None of the above

	112.	 Who is the author of the book 

‘Divaswapna’ ?

	 (A)	 J. Krishnamurti

	 (B)	 Gijju Bhai

	 (C)	 Aurobindo Ghosh

	 (D)	 More than one of the above

	 (E)	 None of the above

	113.	 The concept of ‘Craft centred 
education’ is related to which thinker ?

	 (A)	 J. Krishnamurti

	 (B)	 M. K. Gandhi

	 (C)	 Aurobindo Ghosh

	 (D)	 More than one of the above

	 (E)	 None of the above

	114.	 Which evaluation is used to improve 
the performance of student during 
the course of study ?

	 (A)	 Diagnostic

	 (B)	 Placement

	 (C)	 Formative

	 (D)	 More than one of the above

	 (E)	 None of the above

	115.	 Philosophy of ‘ integral yoga’ is 
related to which thinker ?

	 (A)	 Swami Vivekanand

	 (B)	 Sri Aurobindo

	 (C)	 Gijju Bhai

	 (D)	 More than one of the above

	 (E)	 None of the above

	116.	 What can be the smallest unit to be 
taught in a lesson plan ?

	 (A)	 One concept

	 (B)	 One chapter

	 (C)	 Many concepts

	 (D)	 More than one of the above

	 (E)	 None of the above
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	109.	 {H$g _mnZ ñHo$b Ho$ àojUm| H$mo Omo‹S>m Zht Om 

gH$Vm h¡ ?

	 (A)	 Zm{_H$ Ed§ H«$_gyMH$

	 (B)	 AZwnm{VH$ 

	 (C)	 AÝVamb

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	110.	 am~Q>© ½boOa Ûmam {ejU H$m H$m¡Z-gm à{V_mZ 

{X`m J`m h¡ ?

	 (A)	 AÝV:{H«$`m à{V_mZ

	 (B)	 ~o{gH$ Q>rqMJ _mS>b (AmYma^yV {ejU 

à{V_mZ)

	 (C)	 gåàË`` gåàmpßV à{V_mZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	111.	 _yë`m§H$Z H$m _yb AmYma Š`m h¡ ?

	 (A)	 _mnZ

	 (B)	 J«oqS>J

	 (C)	 A§H$Z

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	112.	 ‘ {XdmñdßZ’ Zm_H$ nwñVH$ Ho$ boIH$ H$m¡Z h¢ ?

	 (A)	 Oo. H¥$îU_y{V©

	 (B)	 JrOy ^mB©

	 (C)	 Aaq~Xmo Kmof

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	113.	 ‘ {eën AmYm[aV {ejm’ H$m gåàË`` {H$g 

qMVH$ go g§~§{YV h¡ ?

	 (A)	 Oo. H¥$îU_y{V©

	 (B)	 E_. Ho$. Jm±Yr

	 (C)	 Aaq~Xmo Kmof

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	114.	 AÜ``Z Ho$ H«$_ _| {dÚmWu Ho$ àXe©Z Ho$ gwYma 

hoVw {H$g _yë`m§H$Z H$m Cn`moJ H$aVo h¢ ?

	 (A)	 {ZXmZmË_H$

	 (B)	 M`ZmË_H$

	 (C)	 aMZmË_H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	115.	 ‘gdmªJ `moJ’ Xe©Z {H$g qMVH$ go g§~§{YV h¡ ?

	 (A)	 ñdm_r {ddoH$mZÝX

	 (B)	 lr Aaq~Xmo

	 (C)	 JrOy ^mB©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	116.	 EH$ nmR> `moOZm _| {ejU hoVw g~go N>moQ>r BH$mB© 

Š`m hmo gH$Vr h¢ ?

	 (A)	 EH$ gåàË``

	 (B)	 EH$ AÜ`m`

	 (C)	 H$B© gåàË``

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht



05/HM/M–2024/A	 38	

	117.	 The origin of idealism is based on 
which of these ?

	 (A)	 Ideals

	 (B)	 Idea

	 (C)	 Ethics

	 (D)	 More than one of the above

	 (E)	 None of the above

	118.	 What is the meaning of  
inter-disciplinary ?

	 (A)	 Focus on a single discipline

	 (B)	 Focus on a narrow subject area

	 (C)	 Focus on two or more disciplines

	 (D)	 More than one of the above

	 (E)	 None of the above

	119.	 The concept of ‘Ekadash Vrat’ 
(Eleven vows) is related to which 
thinker ?

	 (A)	 Sri Aurobindo

	 (B)	 R. N. Tagore

	 (C)	 M. K. Gandhi

	 (D)	 More than one of the above

	 (E)	 None of the above

	120.	 Which commission gave concept of 
‘Common School System’ ?

	 (A)	 University Education Commission

	 (B)	 Education Commission – 1964

	 (C)	 Hunter Commission

	 (D)	 More than one of the above

	 (E)	 None of the above

	121.	 Where ‘Laboratory School’ was 
established by John Dewey ?

	 (A)	 Washington

	 (B)	 New York

	 (C)	 Chicago

	 (D)	 More than one of the above

	 (E)	 None of the above

	122.	 Who has given the concept of ‘Navya 
Vedant’ ?

	 (A)	 Swami Vivekanand

	 (B)	 Sri Aurobindo

	 (C)	 R. N. Tagore

	 (D)	 More than one of the above

	 (E)	 None of the above

	123.	 Which of the given evaluation 
strategies use multidimensional 
sets of scoring guidelines that can 
be used to provide consistency in 
evaluating student work ?

	 (A)	 Open book exam

	 (B)	 Rubrics

	 (C)	 Case based questions 

	 (D)	 More than one of the above

	 (E)	 None of the above

	124.	 What should be the role of a teacher 
to help learners with dyslexia ?

	 (A)	 Provide special accommodation

	 (B)	 Use only rote memorization

	 (C)	 Refer learner to a reading 
specialist

	 (D)	 More than one of the above

	 (E)	 None of the above
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	117.	 AmXe©dmX H$s CËn{Îm BZ_| go {H$g na  
AmYm[aV h¡ ?

	 (A)	 AmXem]

	 (B)	 {dMma (AmB{S>`m)

	 (C)	 E{WŠg

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	118.	 A§V{d©f`H$ H$m Š`m AW© h¡ ?

	 (A)	 EH$ {df` na Ho$pÝÐV

	 (B)	 EH$ {df` Ho$ g§H$sU© joÌ na Ho$pÝÐV

	 (C)	 Xmo `m A{YH$ {df`mo§ na Ho$pÝÐV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	119.	 ‘ EH$mXe d«V’ H$m gåàË`` {H$g qMVH$ go 

g§~§{YV h¡ ?

	 (A)	 lr Aaq~Xmo

	 (B)	 Ama. EZ. Q>¡Jmoa

	 (C)	 E_. Ho$. Jm±Yr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	120.	 ‘g_mZ ñHy$b àUmbr’ H$m gåàË`` {H$g Am`moJ 

Zo {X`m ?

	 (A)	 {díd{dÚmb` {ejm Am`moJ

	 (B)	 {ejm Am`moJ – 1964

	 (C)	 hÊQ>a Am`moJ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	121.	 Om°Z S>rdr Ûmam ‘bo~moaoQ´>r ñHy$b’ H$hm± ñWm{nV 

{H$`m J`m Wm ?

	 (A)	 dmqeJQ>Z

	 (B)	 Ý`y`mH©$

	 (C)	 {eH$mJmo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	122.	 ‘Zì` doXmÝV’ H$s AdYmaUm {H$gZo {X`m h¡ ?

	 (A)	 ñdm_r {ddoH$mZÝX

	 (B)	 lr Aaq~Xmo

	 (C)	 Ama. EZ. Q>¡Jmoa

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	123.	 BZ_| H$m¡Z-gr _yë`m§H$Z aUZr{V`m| _| ñH$mo[a¨J 

{Xem{ZXo©em| Ho$ ~hþAm`m_r goQ> H$m Cn`moJ 

H$aVo h¢ {Oggo {dÚmWu H$m`© _yë`m§H$Z H$aZo _| 

pñWaVm àXmZ H$ao ?

	 (A)	 Iwbr {H$Vm~ narjm

	 (B)	 ê${~«Šg

	 (C)	 Ho$g AmYm[aV àíZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	124.	 {S>ñbopŠg`m `wŠV A{YJ_H$Vm© Ho$ gh`moJ hoVw 

EH$ {ejH$ H$s Š`m ^y{_H$m hmoZr Mm{hE ?

	 (A)	 {deof Amdmgr` gw{dYm XoZm

	 (B)	 _mÌ H§$R>mJ«Vm H$m Cn`moJ H$aZm

	 (C)	 A{YJ_H$Vm© H$mo arqS>J {deofk H$mo 

g§X{^©V H$aZm 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	125.	 What is the birth year of R. N. Tagore ?

	 (A)	 1860

	 (B)	 1862

	 (C)	 1861

	 (D)	 More than one of the above

	 (E)	 None of the above

	126.	 Which is a component behaviour of 

skill of stimulus variation ?

	 (A)	 Pausing

	 (B)	 Reinforcement

	 (C)	 Explaining

	 (D)	 More than one of the above

	 (E)	 None of the above

	127.	 Who wrote the book ‘Democracy and 

Education’ ?

	 (A)	 John Dewey 

	 (B)	 Plato

	 (C)	 Rousseau

	 (D)	 More than one of the above

	 (E)	 None of the above

	128.	 Who is the author of ‘Emile’ ?

	 (A)	 Plato

	 (B)	 Rousseau

	 (C)	 John Dewey

	 (D)	 More than one of the above

	 (E)	 None of the above

	129.	 Which type of statistics is used in 
research to draw conclusion about 
the population ?

	 (A)	 Meta-analysis
	 (B)	 General statistics 
	 (C)	 Inferential statistics
	 (D)	 More than one of the above
	 (E)	 None of the above

	130.	 Which of these is example of 
‘primary group’ ?

	 (A)	 Office
	 (B)	 Club
	 (C)	 Family
	 (D)	 More than one of the above
	 (E)	 None of the above

	131.	 Who emphasized education for ‘3H’ ?
	 (A)	 John Dewey
	 (B)	 M. K. Gandhi
	 (C)	 R. N. Tagore
	 (D)	 More than one of the above
	 (E)	 None of the above

	132.	 Giving hints or cues to enable the 
student to answer is known by which 
term ?

	 (A)	 Reinforcement
	 (B)	 Prompting
	 (C)	 Stimulus variation
	 (D)	 More than one of the above
	 (E)	 None of the above

	133.	 Which evaluation is used to check 
the entry behaviour of the student 
during entrance exams ?

	 (A)	 Summative
	 (B)	 Placement
	 (C)	 Formative
	 (D)	 More than one of the above
	 (E)	 None of the above
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	125.	 Ama. EZ. Q>¡Jmoa H$m OÝ_ df© Š`m h¡ ?

	 (A)	 1860

	 (B)	 1862

	 (C)	 1861

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	126.	 H$m¡Z-gm CX²XrnH$ n[adV©Z H$m¡eb H$m KQ>H$ 

ì`dhma h¡ ?

	 (A)	 {dam_ boZm

	 (B)	 à~bZ

	 (C)	 ì`m»`m H$aZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	127.	 ‘ S>o_moH«o$gr EÊS> EÁ`yHo$eZ’ nwñVH$ {H$gZo  

{bIr h¡ ?

	 (A)	 Om°Z S>rdr

	 (B)	 ßboQ>mo

	 (C)	 ê$gmo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	128.	 ‘B{_b’ Ho$ boIH$ H$m¡Z h¢ ?

	 (A)	 ßboQ>mo

	 (B)	 ê$gmo

	 (C)	 Om°Z S>rdr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	129.	 emoY _| OZg§»`m Ho$ {bE {ZîH$f© {ZH$mbZo hoVw 
{H$g àH$ma H$s gm§p»`H$s H$m Cn`moJ H$aVo h¢ ?

	 (A)	 _oQ>m-{díbofU
	 (B)	 gm_mÝ` gm§p»`H$s
	 (C)	 AZw_m{ZV gm§p»`H$s
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	130.	 BZ_| go H$m¡Z ‘ àmW{_H$ g_yh’ H$m CXmhaU h¡ ?
	 (A)	 H$m`m©b`
	 (B)	 Šb~
	 (C)	 n[adma
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	131.	 {H$gZo ‘3H’ H$s {ejm na ~b {X`m ?
	 (A)	 Om°Z S>rdr
	 (B)	 E_. Ho$. Jm±Yr
	 (C)	 Ama. EZ. Q>¡Jmoa
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	132.	 {dÚmWu H$mo CÎma XoZo _| gh`moJ hoVw Cgo gwPmd 
`m g§Ho$V ~VmZo H$mo Š`m H$hm OmVm h¡ ?

	 (A)	 à~bZ
	 (B)	 g§Ho$VZ
	 (C)	 CX²XrnH$ n[adV©Z
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	133.	 àdoe narjm Ho$ g_` {dÚmWu Ho$ àdoe ì`dhma 
Om±MZo hoVw {H$g _yë`m§H$Z H$m Cn`moJ H$aVo h¢ ?

	 (A)	 `moJmË_H$
	 (B)	 M`ZmË_H$
	 (C)	 aMZmË_H$
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	134.	 ‘Simple designation of names’ 
is related to which scale of 
measurement ?

	 (A)	 Nominal

	 (B)	 Ratio

	 (C)	 Ordinal

	 (D)	 More than one of the above

	 (E)	 None of the above

	135.	 Who believes in predetermined aims 
of education ?

	 (A)	 Idealist

	 (B)	 Naturalist

	 (C)	 Realist

	 (D)	 More than one of the above

	 (E)	 None of the above

	136.	 Whose educational method includes 
the ‘Plan of Camps’ ?

	 (A)	 Swami Vivekanand

	 (B)	 R. N. Tagore

	 (C)	 Aurobindo Ghosh

	 (D)	 More than one of the above

	 (E)	 None of the above

	137.	 Through which amendment 
‘secularism’ was added in the Indian 
Constitution ?

	 (A)	 42

	 (B)	 73

	 (C)	 76

	 (D)	 More than one of the above

	 (E)	 None of the above

	138.	 ‘Writing student responses on the 
blackboard’ belongs to which type of 
reinforcement ?

	 (A)	 Verbal reinforcement

	 (B)	 Positive non-verbal 
reinforcement

	 (C)	 Positive verbal reinforcement

	 (D)	 More than one of the above

	 (E)	 None of the above

	139.	 Which of the following methods is 
based on pragmatism ?

	 (A)	L ecture

	 (B)	 Project

	 (C)	 Discussion

	 (D)	 More than one of the above

	 (E)	 None of the above

	140.	 Who said “Education is 
concentration of mind” ?

	 (A)	 Sri Aurobindo

	 (B)	 M. K. Gandhi

	 (C)	 Swami Vivekanand

	 (D)	 More than one of the above

	 (E)	 None of the above

	141.	 When a teacher begins a new lesson 
for students, then what should be 
his prime consideration to begin ?

	 (A)	 Own experiences

	 (B)	 Overview of the subject

	 (C)	 Experiences already possessed by 
students

	 (D)	 More than one of the above

	 (E)	 None of the above
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	134.	 ‘gm_mÝ` Zm_H$aU H$aZm’ _mnZ Ho$ {H$g ñHo$b 
go g§~§{YV h¡ ?

	 (A)	 Zm{_Zb

	 (B)	 ao{eAmo

	 (C)	 Am{S>©Zb

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	135.	 {ejm Ho$ nyd©{ZYm©[aV CX²Xoí`m| _| H$m¡Z {dídmg 

H$aVm h¡ ?

	 (A)	 AmXe©dmXr

	 (B)	 àH¥${VdmXr

	 (C)	 `WmW©dmXr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	136.	 ‘ {e{dam| H$s `moOZm’ {H$gH$s e¡j{UH$ {d{Y _| 

g_m{hV h¡ ?

	 (A)	 ñdm_r {ddoH$mZÝX

	 (B)	 Ama. EZ. Q>¡Jmoa

	 (C)	 Aaq~Xmo Kmof

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	137.	 {H$g g§emoYZ Ûmam ^maVr` g§{dYmZ _| 
‘goŠ`wbo[aÁ_’ (n§W{ZanojVm) H$mo Omo‹S>m J`m ?

	 (A)	 42

	 (B)	 73

	 (C)	 76

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	138.	 ‘ í`m_nÅ>> na {dÚm{W©`m| Ho$ Ûmam {X`o CÎmam| H$mo  

{bIZm ’ {H$g àH$ma Ho$ à~bZ Ho$ A§VJ©V  

AmVm h¡ ?

	 (A)	 empãXH$ à~bZ

	 (B)	 YZmË_H$ AempãXH$ à~bZ

	 (C)	 YZmË_H$ empãXH$ à~bZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	139.	 {ZåZ{b{IV _| go H$m¡Z-gr {d{Y à`moOZdmX na 

AmYm[aV h¡ ?

	 (A)	 ì`m»`mZ

	 (B)	 àmoOoŠQ>

	 (C)	 g§dmX

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	140.	 {H$gZo H$hm h¡ {H$ “_Z H$s EH$mJ«Vm hr  

{ejm h¡” ?

	 (A)	 lr Aaq~Xmo

	 (B)	 E_. Ho$. Jm±Yr

	 (C)	 ñdm_r {ddoH$mZÝX

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	141.	 O~ EH$ AÜ`mnH$ {dÚm{W©`m| Ho$ {bE EH$ Z`m 

nmR> àma§^ H$aVm h¡ V~ àma§^ H$aZo hoVw Cgo 

_ybV: {H$g na {dMma H$aZm Mm{hE ?

	 (A)	 ñd`§ Ho$ AZw^d

	 (B)	 {df` H$m qghmdbmoH$Z

	 (C)	 {dÚm{W©`m| Ho$ nyd© AZw^d

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	142.	 Which is the productive skill of a 
language ?

	 (A)	 Reading and writing
	 (B)	 Speaking and listening
	 (C)	 Speaking and writing
	 (D)	 More than one of the above
	 (E)	 None of the above

	143.	 Which one is authoritarian level 
teaching ?

	 (A)	 Teacher centred
	 (B)	 Parent centred
	 (C)	 Child centred
	 (D)	 More than one of the above
	 (E)	 None of the above

	144.	 According to whom ‘objects are real’ ?
	 (A)	 Naturalist
	 (B)	 Realist
	 (C)	 Idealist
	 (D)	 More than one of the above
	 (E)	 None of the above

	145.	 Who was head of the organization 
“Order of the star in the east” ?

	 (A)	 Swami Vivekanand
	 (B)	 Gijju Bhai
	 (C)	 J. Krishnamurti
	 (D)	 More than one of the above
	 (E)	 None of the above

	146.	 Score on a subject achievement test 
is measure on which measurement 
scale ?

	 (A)	 Ratio scale
	 (B)	 Ordinal scale
	 (C)	 Interval scale
	 (D)	 More than one of the above
	 (E)	 None of the above

	147.	 Which one of these is related to 
scientific method ?

	 (A)	 Pragmatism

	 (B)	 Naturalism

	 (C)	 Idealism

	 (D)	 More than one of the above

	 (E)	 None of the above

	148.	 A systematic record of student’s 
learning profile, interests and growth 
over a time is represented by which 
term ?

	 (A)	 Anecdotal Record

	 (B)	 Observation

	 (C)	 Portfolio

	 (D)	 More than one of the above

	 (E)	 None of the above

	149.	 ‘Encyclopedia’ is which type of 
source in research ?

	 (A)	 Primary source

	 (B)	 Tertiary source

	 (C)	 Secondary source

	 (D)	 More than one of the above

	 (E)	 None of the above

	150.	 Maithili language was included in  
8th schedule of Indian Constitution 
in which year ?

	 (A)	 2003

	 (B)	 2001

	 (C)	 2002

	 (D)	 More than one of the above

	 (E)	 None of the above
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	142.	 ^mfm H$m CËnmXH$ H$m¡eb H$m¡Z h¡ ?
	 (A)	 n‹T>Zm Am¡a {bIZm
	 (B)	 ~mobZm Am¡a gwZZm
	 (C)	 ~mobZm Am¡a {bIZm
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	143.	 H$m¡Z-gm A{YH$m[aH$ (gÎmmdmXr) ñVa H$m 
{ejU h¡ ?

	 (A)	 {ejH$ Ho$pÝÐV
	 (B)	 A{^^mdH$ Ho$pÝÐV
	 (C)	 ~mb Ho$pÝÐV
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	144.	 {H$gHo$ AZwgma ‘dñVwE± dmñV{dH$ hmoVr h¢’ ?
	 (A)	 àH¥${VdmXr
	 (B)	 `WmW©dmXr
	 (C)	 AmXe©dmXr
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	145.	 “Am°S>©a Am°\$ X ñQ>ma BZ X B©ñQ> ” Zm_H$ g§JR>Z 
H$m à_wI H$m¡Z Wm ?

	 (A)	 ñdm_r {ddoH$mZÝX
	 (B)	 JrOy ^mB©
	 (C)	 Oo. H¥$îU_y{V©
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	146.	 {H$gr {df` Ho$ CnbpãY narjU _| àmßV A§H$ 
H$mo {H$g _mnZ ñHo$b na _mnm OmVm h¡ ?

	 (A)	 AZwnm{VH$ ñHo$b
	 (B)	 H«$_gyMH$ ñHo$b
	 (C)	 AÝVamb ñHo$b
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	147.	 BZ_| H$m¡Z-gm d¡km{ZH$ {d{Y go g§~§{YV h¡ ?
	 (A)	 à`moOZdmX
	 (B)	 àH¥${VdmX
	 (C)	 AmXe©dmX
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	148.	 EH$ g_`md{Y _| {dÚmWu Ho$ A{YJ_ {ddaU, 
é{M`m| Am¡a àJ{V H$mo Xem©Zodmbm ì`dpñWV 
[aH$mS>© {H$g eãXmdbr Ûmam àX{e©V {H$`m 
OmVm h¡ ?

	 (A)	 E{ZŠS>m°Q>b [aH$mS>©

	 (B)	 AdbmoH$Z

	 (C)	 nmoQ>©\$mo{b`m|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	149.	 ‘ BÝgmBŠbmonr{S>`m’ emoY _| {H$g àH$ma H$m  
òmoV h¡ ?

	 (A)	 àmW{_H$ òmoV

	 (B)	 V¥Vr`H$ òmoV

	 (C)	 {ÛVr`H$ òmoV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	150.	 {H$g df© _| _¡{Wbr ^mfm H$mo ^maVr` g§{dYmZ 
H$s AmR>dt AZwgyMr _| gpå_{bV {H$`m J`m Wm ?

	 (A)	 2003
	 (B)	 2001
	 (C)	 2002
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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SPACE  FOR  ROUGH  WORK / aµ\$ H$m`© Ho$ {bE ñWmZ 
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SPACE  FOR  ROUGH  WORK / aµ\$ H$m`© Ho$ {bE ñWmZ 
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àíZ-nwpñVH$m

gm_mÝ` AÜ``Z Ed§ ~r.ES>.

g_` : 2:30 KÊQ>o	 nyUmªH$ : 150

àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü`mZ go n‹T> b| &

_hÎdnyU© AZwXoe
	 1.	 `h àíZ-nwpñVH$m Xmo ^mJm| _| {d^m{OV h¡ — ^mJ – I Ed§ ^mJ – II & ^mJ – I _| gm_mÝ` AÜ``Z Ho$ àíZ h¢ VWm ^mJ – II _| ~r.ES>. Ho$ 

àíZ h¢ &

	 2.	 ^mJ – I _| àíZ g§»`m 1 go 100 VWm ^mJ – II _| àíZ g§»`m 101 go 150 VH$ h¢ & ^mJ – I VWm ^mJ – II _| àíZ Am¡a CZHo$ CÎma 
A§J«oOr Ed§ {hÝXr _| _w{ÐV h¢ &

	 3.	 g^r àíZm| H$m A§H$ g_mZ h¡ &

	 4.	 àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo CÎma nÌH$ àíZ nwpñVH$m Ho$ AÝXa {X`m J`m h¡ & AnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ 
{bIo Ed§ Hy$Q>~Õ H$a| VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om±Mm Zht Om`oJm &

	 5.	 narjm Amaå^ hmoVo hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$na Xm`t Amoa _w{ÐV 
ûm¥§Ibm Ed§ CÎma nwpñVH$m na _w{ÐV ûm¥§Ibm g_mZ h¡ & H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a\$ H$m`© hoVw Xmo n¥îR>m| (n¥îR> g§. 46 Am¡a 47) g{hV 
nyao 48 _w{ÐV n¥îR> h¢ Am¡a H$moB© àíZ ̀ m n¥îR> {~Zm N>nm hþAm ̀ m \$Q>m hþAm ̀ m Xmo~mam Am`m hþAm ̀ m àíZ nwpñVH$m Ed§ CÎma nwpñVH$m _| _w{ÐV ûm¥§Ibm 
_| AÝVa Vmo Zht h¡ & nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m _| {H$gr àH$ma H$s Ìw{Q> nmZo na VËH$mb BgHo$ ~Xbo Bgr ûm¥§Ibm H$s Xÿgar ghr nwpñVH$m 
Ed§ Amo.E_.Ama. n{ÌH$m bo b| &

	 6.	 Bg n¥îR> Ho$ D$na {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ Adí` {bI| & àíZ-nwpñVH$m na Am¡a Hw$N> Z {bI| &

	 7.	 àË`oH$ àíZ Ho$ nm±M CÎma — (A), (B), (C), (D) Am¡a (E) H«$_ na {X`o J`o h¢ & CZ_| go Amn g~go ghr Ho$db EH$ CÎma H$mo MwZ| Am¡a 
AnZo CÎma nÌH$ na A§{H$V H$a| & AmnH$m Hw$b àmßVm§H$ AmnHo$ Ûmam CÎma nÌH$ _| A§{H$V ghr CÎmam| na {Z^©a H$aoJm &

	 8.	 CÎma nÌH$ _| àË`oH$ àíZ g§»`m Ho$ gm_Zo nm±M d¥Îm Bg àH$ma ~Zo hþE h¢ — A , B , C , D  Am¡a E  & àíZm| Ho$ CÎma XoZo Ho$ {bE 
AmnH$mo AnZr ngÝX Ho$ Ho$db EH$ d¥Îm H$mo H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ go {M{•V H$aZm h¡ & àË`oH$ àíZ Ho$ {bE Ho$db EH$ 
CÎma H$mo MwZ| Am¡a Cgo AnZo CÎma nÌH$ _| {M{•V H$a| & Amn CÎma nÌH$ _| `{X EH$ àíZ Ho$ {bE EH$ go A{YH$ d¥Îm _| {ZemZ bJmVo h¢, 
Vmo AmnH$m CÎma JbV _mZm Om`oJm & CÎma nÌH$ _| CÎma H$mo {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ H$m hr à`moJ 
H$a| & {H$gr ^r àH$ma H$m H$mQ>-Hy$Q> AWdm n[adV©Z _mÝ` Zht h¡ &

	 9.	 àíZ-nwpñVH$m go H$moB© nÞm \$m‹S>Zm `m AbJ H$aZm _Zm h¡ & àíZ-nwpñVH$m Am¡a CÎma nÌH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha H$Xm{n 
Z bo Om`| & narjm Ho$ g_mnZ na CÎma nÌH$ drjH$ H$mo Adí` gm¢n X| & CgHo$ ~mX AmnH$mo AnZr àíZ-nwpñVH$m AnZo gmW bo OmZo H$s 
AZw_{V h¡ &

	 10.	 D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h¡ AWdm AmnH$mo 
XÊS> {X`m Om gH$Vm h¡ & 

	 11.	 Aä`Wu CÎma nÌH$ H$mo AnZr CnpñW{V _| Self Adhesive LDPE Bag _| nyar Vah go n¡H$/grb H$admZo Ho$ Cnam§V hr narjmH$j H$mo 
N>mo‹S>| &

 Note : English version of the instructions is printed on the First Page of this Booklet.
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